
Lösung einiger 3.1 Aufgaben

4.

p =1 .(1 + a-AT)
2 °

(0.5005 -0,5)m= l
VIt n h s-\ **m mm* f r *

0,5m • 77K K
= (0.5007-05)0. l

0,5m - 77K K

»-/«

a) i = / - (l + a • AT) = 60,00m(l - 0,0000115 — - 39K) = 59,973m
K

b) £3 - 60,00m(l - 0,0000115 — - 16K) = 60.01 Im
K.

= l3-£2 = 38mm

9.

l2Guß - £OGuß • (l + a • AT) = 500mm(l + 0,0000105 — • l OOK) - 500,525mm
K

^2Stahl = ^ostohl - (l + a - AT) = 500,08mm(l + 0,0000115 — • 100K) = 500,655mir
K

spiel: s = ^2Stahl-£2Guß = 0,13mm

n. ;:.

seiiiänge bei-2o°c; ^ = ^/(b/2)2 + d2 = A/(20m/2)2 + 0,4'm2 = 10,008m
2

L = 20,016m

a) £ü = £o.(i + a -AT) = 20,016m(l + 0,0000115 — -42K) = 20,026m
K.

b) i ß = £Q . (l + a - AT) - 20,016m(l + 0,0000115 — • 52K) = 20,028m
K

d3 - A/(20,028m/2)2 - (20m/2)2 - 0,529m

Vervielfältigung und Nachdruck sind erlaubt! ©WO


